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Name
Assignment Date Period
Graph each equation.
1) y=[x-2|-3 2) y=|x-4]-1
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Name
Assignment Date Period
Graph each equation.
1)y=—|x—3|+2 2) y=|x—1|+2
A A
4—6 45 44 B3 2410 4 > <—6 45 44 B3 2410 4 >
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3) y=|x+3|—2 4) y=|x—1|+4
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Name
Assignment Date Period
Graph each equation.
1)y=|x+3|+4 2) y=|x+1|+3
A A
<43 454 B 240 4 > <—6 R I A ) 4 >
¥ Y
3) y=—|x+1|—2 4) y=—|x+1|—3
A A
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Name
Assignment Date Period
Graph each equation.
1)y=|x+1|—1 2) y=—|x+1|
A A
<—6 -5 4 B3 240 4 > <—6 S 4 3240 4 >
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3) y=—|x+1|+1 4) y=|x+1|
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Name
Assignment Date Period
Graph each equation.
1)y=|x+2|—1 2) y=|x+2|+3
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1) A 2) A 3) A
! /// \\\/"‘*/ ! //
\\ R // R R //
< N 2,/ > < > <N // >
Jo ? } 1o 4 _o 4 s K—z /o 2 4
N
_UV _UV _UV
4) A 5) A 6) A
Jo 4 b 7? 4 do /4/‘?.\\‘ } Jo 4 b 7? 4
=6 =6 \ =0
Y Y Y
/) A 8) A 9) A
/\ ’ \\ ’ //
S Do N i T 4 b } ~ 1 4 bho } i
> \\ N .
=4 \ = =4
N
7UV 70\! 7UV
10) A 11) A 12) A
o 4 7:) } Jo D 72/ /0/\\\4 o L 72/ /0\\ }
- // - \\ // - \\
=6 / =6 / =6 \
Y Y Y
13) A 14) A 15) A
4 4 \\ 4 //
. \\ 5 //
S d i b oo | ~ Sl 4 boo ! ” Sl i W2 g ~
70\7 70\! 70\7

math-worksheet.org



16)

19)

22)

‘ 17) \ 18)
N\ )
5 // 5
< N/ > < >
& D ol 2 4 R, N 4
70\ 70\!
) 20) \ 21)
< €6 -4 4 > < “4 20 4 >
L AN
y VRN
\ Y
) 23) \ 24)
NS \\\ !
5 \‘ag
< > < AN >
€6 -4 7‘(‘) 4 -4 2 j) ,\ 4 /
A4
7“‘ *()\'

82 ggsw path-worksheeh.ory

A

A

3 -
> X<

Y

Y

A

Y

math-worksheet.org



ID: 6

Name
Assignment Date Period
Graph each equation.
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19) A 20) A 21) A
REETE ) > “ I o ) > REETE ) >
4 @ AN
. B} / I\
Y Y Y
22) A 23) A 24) A
< > < > < / /\\ >
Jo 270 ! do 7270 ! do 4 b /0/ 2 4 N
) ] /.
an
Y Y Y
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ID: 7

Name
Assignment Date Period
Graph each equation.
1)y=|x—4|—2 2) y=|x—4|+3
A A
<43 45 4 3 2 4d1o 4 > <—6 45 44 B3 2410 4 >
v Y
3) y=|x+4|+1 4) y=|x+4|+4
A A
4—6—5 “4 B3 2410 4 > 4—6 45 4 3 240 4 >
oy Y
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A A
6 6
5 5
4 4
3 3
1 t
< > < >
6 45 4 B 210 4 46 45 4 B 2 10 4
=3 =3
4 4
= =
=0 =0
Y Y
7)y=|x+3|+2 8) y=|x+3|—1
A A
6 6
5 5
4 4
3 3
. .
< > < >
46 45 4 B3 2 10 4 -6 45 4 B3 2 10 4
=3 =3
=4 =4
=5 =5
-6 -6
Y \
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9) y=—|x+3|-3 10) y=|x+3| +4

A A
6 6
5 5
4 4
3 3
: :
< > < >
6 45 4 B 210 4 46 -5 4 B 210 4
=3 =3
=4 =4
= =
=0 =0
Y \
11) y=|x+2|—2 12) y=—|x+2|+1
A A
6 6
5 5
4 4
3 3
t t
< > < >
46 45 4 B3 2 10 4 46 45 4 B 2 410 4
=3 =3
4 4
=5 =5
-6 -6
Y Y
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A A
6 6
5 5
4 4
3 3
t t
< > < >
46 -5 4 3 2 410 4 46 45 44 B3 2 10 4
=3 =3
—~ —~
=5 =5
=0 =0
\/ Y
15) y=|x|+1 16) y=—|x|+2
A A
6 6
5 5
4 4
3 3
t 1
< > < >
46 45 4 B 2 410 4 -6 45 4 B3 2 10 4
=3 =3
=4 =4
= -5
-6 -6
Y Y
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A A
6 6
5 5
4 4
3 3
: :
< > < >
46 -5 4 3 2 410 4 46 -5 4 B 210 4
=3 =3
=4 =4
=5 =5
=0 =0
\/ \
19) y=—|x+3| 20) y=|x—1|
A A
6 6
5 5
4 4
3 3
t t
< > < >
46 45 4 B3 2 10 4 46 45 44 B3 2 10 4
=3 =3
4 4
=5 =5
-6 -6
Y Y
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A A
: :
: :
4 4
3 3
1 T
-« > < >
6 45 4 B3 2o 4 6 45 4 B3 2o 4
=3 =3
4 —4
=0 =0
Y Y
23) y=|x| -2 24) y=-|x| -2
A A
: :
: :
4 4
3 3
t T
-« > < >
do s da B3 L Do 4 4 45 4 B 240 4
=3 =3
—4 —4
Y Y
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Answers to Assignment (ID: 7)

1) A 2) A
6 1 N
Tl b 2o g R 0 g
4) A 5) A
<% 4 5o > - g
Y Y
7) A 8) A
U/ 9
N4 '
N, 5
% 4 2o > R >
Y \
10) A ll) A
N4 )
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% & S > % L g
\ Y
13) A 14) A
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N\ ﬂ//
< 7 > < e g
S T 2 0
/o >
/ -4 -
/
\ Y

3) A
74
/
N/
NV
Tk 2o -
Y
6) A
DR, N >
Y
9) A
REETEE >
Y
12) ,
< //\\ >
o )
/T
/
A
15) A
\ O
-
No
N
DR >
\
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16) A 17) A 18) A
N , AN\
5 N 5 N < 1IN,
Lk 40 ) - DR 0 //\\ ~ R /—/ b ] \\ g
B Vv N\ / B N
» A 4
) /, |
Y Y Y
19) A 20) A 21) A
4 \\ 4 / 4
q N S \
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I /AK:) ) P P 7? 2 4 T 7270 )
7N ) )
BN ) .
Y Y Y
22) A 23) A 24) A
DR PN > DR 7? ) > % 4 7270 I
/N ) /
// . \\ . .
Y Y Y
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ID: 8

Name
Assignment Date Period
Graph each equation.
1) y=—|x—3|—4 2) y=—|x—2|—1
A A
4—6 45 44 B3 2410 4 > {—6 45 44 B3 2 410 4 >
v Y
3) y=—|x—3|+3 4) y=|x—3|+2
A A
4—6 454 B3 D240 4 > 4—6 454 B3 D20 4 >
v Y
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A A
6 6
5 5
4 4
3 3
T 1

< > < >
46 -5 4 3 2 410 4 46 45 4 B 2 10 4

=3 =3
- -
=5 =5
=0 =0

Y Y

7) y=—|x+4|+1 8) y=—|x+4|+4

A A
6 6
5 5
4 4
3 3
T t

< > < >
-6 45 4 B3 2 10 4 46 45 4 B 2 410 4

=3 =3
4 -
- -
6 6

Y Y
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Y

A

11) y= |x+4| +3
A

Y

A

</ gsgsgs ath-wsrisheel.crg

10) y= |x+2| +4
A

O

L W B

T 5 45 b o g
Y

12) y=—|x+4| -3
A
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13) y= |x+3| -4

A
6
5
4
3
T
2 >
do 5 B D2 Do 4
=3
-4
=5
=0
Y

15) y=—|x+2| +4

A
6
5
4
3
1
< >
-6 45 4 B 20 4
=3
—4
=5
=6
Y

</ gsgsgs ath-wsrisheel.crg

Y

A

16) y=—|x+2| +2
A

Y

A
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A A
6 6
5 5
4 4
3 3
: :
< > < >
46 -5 4 3 2 410 4 46 -5 4 B 210 4
=3 =3
=4 =4
=5 =5
=0 =0
\/ \
19)y=|x|+1 20) y=|x+1|
A A
6 6
5 5
4 4
3 3
1 1
< > < >
46 45 4 B 2 410 4 46 45 44 B3 2 10 4
=3 =3
4 4
=5 =5
-6 -6
Y Y
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A A
6 6
5 5
4 4
3 3
T 1
< > < >
55 452 dio 4 55 452 dio )
=3 =3
—4 —4
s >
=0 =0
Y Y
23) y=—|x| -4 24) y=|x+3]|
A A
6 6
5 5
4 4
3 3
1 T
< > < >
6155 452 dio 4 155 452 dio 4
=3 =3
4 4
=5 =5
5 5
Y Y
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1)

Answers to Assignment (I1D: 8)

2)

3)

A A A
Tk 2o ~ Tl 4 2o - Tk kD i
N =, N
—4 Ve —4
» A -6
Y Y Y
4) A 5) A 6) A
N N °
AN \‘4\ 4
R LIN R
Db g T 4 ho - Db >
Y Y Y
/) A 8) A 9) A
< N\ > < > < >
o i \KO do 4 bo J 4 b o
74 \\ e e
SN 6 -
Y Y Y
10) A 11) A 12) A
/U O
4 \ / 4 4
N
% L4 Do ” < boo > % L4 Do >
—4 —4 // \\ —4
-6 =6 \()
\ \ \
13) 14) 15)
A Y A
1 b Db > < h 0 > <~6 4 20 >
K\ A N N
N, —4 —4
\ \ \
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16) 17) 18)

A A A
R ra—— 4 > <% 4 2o | > < L/ 4 >
70\1 70\! 70\(
19) A 20) A 21) A
\\\ ! // N /// \\ ! /
\‘“v/ \\ ’ // \\ ’ //
% b Do 4 g T 4 Dboo ! g T 4 2 W 4 g
7UV 70\! 70\(
22) A 23) A 24) A
: : iy
R 5 \\ //
< Fa > < > N/ >
6 ,4//7 D \\‘ 4 -6 4 2 7’(‘) 4 -6 4 2 7’(‘) 4
// - \\ / -
=0 \ =0 =0
Y Y Y
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ID: 9

Name
Assignment Date Period
Graph each equation.
1)y=|x|—1 2) y=|x—1|
A A
{—6 ds a3 b 1o 4 > (—6 45 4 3 2410 4 >
oy v
3) y=—|x|—2 4) y=—|x—2|
A A
4—6—5 “4 B3 2410 4 > 4—6 45 4 3 240 4 >
Y Y
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A A
6 6

5 5

4 4

3 3
1 t

< > < >
6 45 4 B 210 4 46 45 4 B 2 10 4

=3 =3

—4 —4
= =
=0 =0

Y Y
7) y=—|x—4|—1 8) y=|x—3|+3

A A
6 6
5 5
4 4
3 3
. .

< > < >
-6 45 4 B 20 4 -6 45 4 B3 2 0 4

=3 =3
=4 =4
= -5
-6 -6

Y Y
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A A
¢ ¢
; ;
4 4
3 3
1 1
< > < >
46 45 #4 B3 210 4 6 5 4 B3 210 4
=3 =3
—4 —4
=5 =5
=0 =0
Y Y
11) y=-|x-4| +2 12) y=—|x+4| -4
A A
6 ¢
; ;
4 4
3 3
1 1
< > - >
-6 45 4 B 20 4 6 45 4 3 2o 4
=3 =3
—4 —4
Y Y
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A
6
5
4
3
1
< >
6 5 4 B3 210 4
=3
—4
=5
=0
Y

A
&
5
4
3
T
> >
dods 4B D2 dio 4
=3
-4
=5
=6
Y
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14) y= |x+4| +2
A

O

b W &

<—6—5—4—3—2—10 >
\

16) y=—|x+3| +3
A
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17) y:—|x+2| +3
A

O

L W B

T 5 45 b o g
=0
Y

19) y=—|x+3|
A

</ gsgsgs ath-wsrisheel.crg

18) y= |x+4| + 4
A

O

L W B

T 5 45 b o g
=0
Y
20) y=—|x+2|
A
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A A
6 6

5 5

4 4

3 3
t t

< > < >
46 45 4 B 2 10 4 46 45 4 B 2 10 4

=3 =3

—4 —4
= =

=0 =0

Y Y

23)y=|x|+1 24) y=|x+1|

A A
6 6
5 5
4 4
3 3
1 1

< > < >
46 5 4 B3 =210 4 6 45 4 3 210 4

=3 =3
4 4
=5 =5
-6 -6

Y Y
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1)

A

4)

Y

A

7)

A

Y

Y

10)

A

Y

13)

A

Y

Answers to Assignment (I1D: 9)

2) A
\ 0
\\ -
N
-« AV >
6 4 20
Y
5) A
~— 5 >
AN
// \*‘i
N
Y
8) A
<~ >
Y
11) )
< 6 2 0 >
}
14)
A
< 6 2 0 >
A\

3)

Y

A

6)

A

9

A

Y

Y

12)

A

15)

Y

A

Y
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16) A 17) A 18) A
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< > < {/ \\ > < >
16 1 D ] o ) ¥ 1 70 \\4 1 U D ] R )
=4 =4 \ =4
N
70\' 70\! 70\!
19) A 20) A 21) A
s /AK :) ! 1o 4 /1 7? } I 4 > 7:) }
/ \\
BN B B
Y Y Y
22) A 23) A 24) A
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5 N |/ N L
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<% 4 5o ) > <% 4 2 o ) > <% 4 Lo ) >
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1D: 10

Name
Assignment Date Period
Graph each equation.
1) y=|x+1| 2) y=—|x|+1
A A
{—6 54 B3 240 4 > <—6 &5 4 B3 20 4 >
Y Y
3) y=|x—2| 4) y=|x|—4
A A
4—6—5—4—3—2—10 4 > 4—6—5—4—3—2—10 4 >
¥ Y
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A A
: :
: :
4 4
3 3
1 T
-« > < >
6 45 4 B3 2o 4 6 45 4 B3 2o 4
=3 =3
4 —4
=0 =0
Y Y
7) y=—|x-1] 8) y=|x+1
A A
: :
5 5
4 4
3 3
T 1
< > < >
645 4 B 2o 4 645 4 B3 2o 4
=3 =3
—4 —4
=5 =5
Y Y
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9) y:—|x—2|
A
O
J
4
3
t
2 >
645 4 B3 2o 4
=3
—4
=5
=6
Y

A
&
5
4
3
T
> >
dods 4B D2 dio 4
=3
-4
=5
=6
Y
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T 5 45 b o g
=0
Y
12) y= |x—3| -2
A
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13) y:|x+2|—3 14) y:—|x—2|—2

A A
6 6
5 5
4 4
3 3
t t
< > < >
46 -5 4 3 2 410 4 46 45 4 B 2 10 4
=3 =3
—~ 4
=5 =5
=0 =0
\/ Y
15) y=—|x—4|+3 16) y=—|x—3|—3
A A
6 6
5 5
4 4
3 3
1 t
< > < >
-6 45 4 B3 2 10 4 46 45 4 B 2 410 4
=3 =3
4 4
= =
-6 -6
Y Y
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A A
6 6
5 5
4 4
3 3
: ;

< > 3 >
-6 45 4 3 2410 4 -6 5 4 3 2 410 4

=3 =3
—4 —4
=5 =5
=0 =0

Y Y

19) y=—|x+4|+4 20) y=—|x—4|—1

A A
6 6
5 5
4 4
3 3
T 1

< > < >
-6 45 4 3 2 10 4 46 5 4 B3 2 410 4

=3 =3
4 4
5 5
6 6

Y Y
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21) y:|x+3|+l 22) y:|x+4|+3

A A
6 6
5 5
4 4
3 3
! !
< > 3 >
46 -5 4 3 2 410 4 46 -5 4 B 210 4
=3 =3
=4 =4
=5 =5
=0 =0
Y Y
23) y=|x+4|—4 24) y=—|x+4|—2
A A
6 6
5 5
4 4
3 3
T t
< > < >
46 45 4 B3 2 10 4 46 45 4 B 2 410 4
=3 =3
- -
=5 =5
6 6
Y Y
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1) A
\\ 4 d
\\ 54
< N/ >
6 4 2o
_UV
4) A
<~ N2 o >
70\(
7) A
- 72/ }/\ >
// - \\
an
Y
10) ‘
NS
< 46 4 2o 4 >
*U‘
13) )
4 //
/!
< \\ >
—6 K -2 [0‘ 4
N

Answers to Assignment (ID: 10)

2) A
< 7 AN >
LY
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/ N
_UV
5) A
\\\ L/
N
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3) A
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15) )
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\
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16) A 17) A 18) A
O O O /
4 4 4//
, , //
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o 4 2o 4 do 4 b oo 4 N D2 o] 2 4
Y Y Y
19) A 20) A 21) A
T L b 4 > ~% 4 2o 2 i > ~% 4 5o 4 >
. . //\\ .
- —4 // -
i /£ 6
Y Y Y
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/U O O
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N
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Y Y Y
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